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2.2. Technical description of Project

Topic

Question The project aims to reduce costs to £1million (page 8) with timescales less

than 1 year. How has this target been set what evidence is there that it is

achievable?

Notes on

question

N/A

Answer The target for this innovation project is to reduce the cost to less than £1m.

The cost of a construction project is largely driven by the project duration.

By developing standardised designs which utilise existing assets we will

reduce the overall timescales of a project and in turn reduce the total

project cost.

The skid mounted unit will be designed using the best available technology,

prefabricated and transported to site. The skid will be above ground rather

than below ground, saving extensive civil works.

With this upfront investment we believe this target of less than £1m is

achievable. However, how far less than this figure we do not know how

much below this figure at this stage.
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